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ABSTRACT
The universe’s age almost same the moving light’s lifetime in the special relativity
theory. Therefore, be able to consider that the universe’s age effects the special relativity
theory of the initial universe. Because the universe’s present age is very huge, consider
that this age is the constant time in the special relativity theory.
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I. Introduction
The article treats that the special relativity theory of the initial universe represents by the universe’s age.
The universe’s age almost same the moving light’s lifetime in the special relativity theory. Therefore, be

able to consider that the universe’s age effects the special relativity theory of the initial universe.

I1. Additional chapter-I
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Consider the universe’s age 7 ~1.8x10" yrs. Because the universe’s present age is very huge,

universe

consider that this age is the constant time in the special relativity theory. Hence, the moving light’s

lifetime 1s almost same the universe’s age in the special relativity theory. The light’s velocity of the initial

universe is C,,..; . In the initial universe, be able to consider that the light has the velocity ¢, . the

static light’s lifetime 7, , the static light’s mass 1., but this universe’s time-space is treated by the

light speed cin the free time-space. It is able to hypothesize that the light’s velocity of the initial
universe is C < the light speed ¢ in the free time-space.
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If light’s time of the initial universe go during the umiverse’s age,
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¢, .. 1s the light’s velocity in the universe’s age. 7

age is the universe’s age, T tight is the static light’s

universe

lifetime, 7, , is the moving light’s lifetime in the inertial system S(Z,X,y,z), the light’s velocity of

light

the initial universe is ¢ In this time, ¢, is constant. But & isn’t constant.
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In this time, the light velocity of the universe’s age is C,,, . Therefore, by Eq(1)
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Tniverse 1S the universe’s age, 7, oht is the static light’s lifetime, 7, ht is the moving light’s lifetime in the

inertial system S(#,X,,z), the light’s velocity of the initial universe is C,,,.,;
constant.

Therefore, in the initial universe
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t is the particle’s lifetime in the inertial system S(¢,x,V,z),T is the particle’s lifetime
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In the initial universe,
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In this time, &, is
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In the initial universe, in the example, the light is

dr* =dit(1—a, ) = olﬂ—cizaj(olx2 +dy* +dz*) =0

2
c

cdt = ayds = &ds —>cydt = pyds, ds= \/dx2 + dy2 +dz*

0

dr* = dz'z—cizaj(dx'2+dy'2+dz'2 )=0

cdt'= ayds'= ﬁa’s’ — cy,dt'= p.ds', ds'= \/a’.x'2 +dy' +dz"” (6)
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In the initial universe, in this time, the static light’s mass Miom is
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The light’s velocity of the initial universe is ¢;,,,.;
Therefore Eq(7) is
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I11. Additional chapter-1I

In this theory, in the initial universe, the particle’s the force definition and the kinetic energy definition,

etc be similar the present special relativity theory’s definition.

In this theory, in the initial universe, the particle’s the force F' and the kinetic energy KE , the power

P, the momentum p , the total energy E are
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If a=a,,
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In this theory, in the initial umverse, the Maxwell-equation is
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The transformation of 4-vector operator ( —,—V) is
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The transformation of the Electro-magnetic 4-vector potential (@, A) is
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Therefore, the transformation of Electro-magnetic field E , B is
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In the initial universe, in the quantum theory,
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The Compton effects is
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The angular frequency @ and the wave number k/ 3, are
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IV. Conclusion

If in the initial universe, the static light’s life time Tlight = 0 and if the light’s velocity is ¢ =c,

initial
this theory does the present special relativity theory.
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